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Solve at least two. Show your work.

492 + 365 = S = 963 - 212 =

824 - 603 =

N = 439 + 683 =

Use mental math to find as many products as you can in one minute.

Q@ 3x4= O 10x4= )
@ 6x4= @ 8x4=
@ 2x4= @ I13x4=
Q Ix4= Q I x4=
QO 7x4= @ i12x4=

Use mental math to find as many quotients as you can in one minute.

@ 3+:3= O 18+3=
® 6:3= @ 21:3= | E
©® 9+:3= © 24:3= ‘\
QO 12+3= @ 27+3= |
@ 15:3= ® 30+3=____



9 What did the farmer get when
~ he tried to reach the bechive?

What to Do

Round each number. Then use the Decoder to solve the
riddle by filling in the spaces at the bottom of the page.
Round 7 to the nearest ten

Round 23 to the nearest ten -
Round 46 to the nearest ten _
Round 92 to the nearest ten

Round 203 to the nearest hundred

Round 420 to the nearest hundred

Round 588 to the nearest hundred

Round 312 to the nearest hundred _—

Round 549 to the nearest hundred - i
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Round 710 to the nearest hundred f
{
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